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2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.20.00.20.40.60.81.0

Fiber 2187, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.30

Fiber 1115, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.00.20.40.60.81.0

Fiber 2463, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5 6 7

2 0 2

2

0

2

residuals

6 5 4 3 2 1 0

Fiber 199, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6 7

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.00.51.01.52.02.53.0

Fiber 4762, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.100.15

Fiber 1484, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.40.20.00.20.40.60.8

Fiber 2698, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 108, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.500.250.000.250.500.751.001.25

Fiber 4760, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

2.0 1.5 1.0 0.50.0 0.5

Fiber 4822, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.00.51.01.52.02.53.0

Fiber 956, dchi2frac= 0.9



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5 6 7

2 0 2

2

0

2

residuals

5 4 3 2 1 0

Fiber 4709, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5 6 7 8 9 10

2 0 2

2

0

2

residuals

6 5 4 3 2 10 1

Fiber 2643, dchi2frac= 0.9



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5 6 7 8 910

2 0 2

2

0

2

residuals

7 6 5 4 3 2 10

Fiber 530, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.00.10.20.30.40.50.6

Fiber 751, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

6 5 4 3 2 1 0

Fiber 312, dchi2frac= 0.9



2 0 2

2

0

2

data

0.81.01.21.41.61.82.02.22.4

2 0 2

2

0

2

model

0.81.01.21.41.61.82.02.22.4

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.040.06

Fiber 4109, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 402, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.30.40.5

Fiber 178, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.30

Fiber 4097, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.20.4

Fiber 2998, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 2263, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.0

Fiber 4429, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 807, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 2735, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

4 3 2 1 0

Fiber 2314, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.250.000.250.500.751.001.251.50

Fiber 2205, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.6

2 0 2

2

0

2

residuals

0.10.0 0.1 0.2 0.3

Fiber 2137, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

1.0 0.50.0 0.5 1.0

Fiber 54, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

1.501.251.000.750.500.250.000.25

Fiber 1014, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.25

Fiber 4267, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 85, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

residuals

0.10.0 0.1 0.2 0.3

Fiber 2199, dchi2frac= 1.0


